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1. (c)
Page 

Diaries  

Books 

Notebooks

2. (c) 'B' and 'R' Positions remains
unchanged.

3. (b) 4
Mother 

3
Father 

2
Father 

1
Brother 

+++–

Father’s mother 

5

4. (d)
5. (d) W I S K

D R H P
(        = opposite) 

L E N T

O V M G
Similarly,

B A N G

Y Z M T 
6. (a) 18 – 36 – 72 – 107

 18 ×  2 = 36 (2nd terms)
 36 × 2 = 72 (3rd terms)
 72 + 35 = 107 (4th terms)

15 – 30 – 60 – 95
 15 × 2 = 30 (2nd terms)
 30 × 2 = 60 (3rd terms)
 60 + 35 = 95 (4th terms)

Similarly,
22 – 44 – 88 – 123

 22 × 2 = 44 (2nd term)
 44 × 2 = 88 (3rd term)
 88 + 35 = 123 (4th term)

7. (d) 25, 30, 40, 55, 75, 100

+5 +10 +15 +15 +20  +25  

+5 +5 +5 +5

8. (a) Alphabets  ENTOMB
Alphabetical order   BEMNOT

9. (d)
10. (d)
11. (c)
12. (c) (213, 157)

 157 + 56 = 213 (1st number)
(185, 129)

 129 + 56 = 185 (1st number)
Similarly,
(164, 108)

 108 + 56 = 164 (1st number)
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13. (b)540 – 188 – 128
 (188 – 128) × 9
 60 × 9 = 540 (1st term)

72 – 284 –266
 (284 – 266) × 9
 18 × 9 = 162 (1st term)

81 – 101 – 92
 (101 – 92) × 9
 9 × 9 = 81 (1st term)

90 – 22 – 12
 (22 – 12) × 9
 10 × 9 = 90 (1st term)

14. (a) I M H

M

Q

U

Y

P

S

V

Y

J

L

N

P

+4

+4

+4

+4

+3

+3

+3

+3

+2

+2

+2

+2

P

Q

R

S

T

+1

+1

+1

+1

15. (a)
F DA C E

G EZ D D

+1 +1–1 +1 –1

V YA C A

W ZZ D Z

+1 +1–1 +1 –1

Similarly,

L RA B O

M SZ C N

+1 +1–1 +1 –1

16. (b)247 ÷ 13 + 16 × 3 – 148 = 119
Option 'b' used

 247 ÷ 13 – 16 × 3 + 148 = 119
 19 – 48 + 148 = 119
 167 – 48 = 119
 119 = 119 (L.H.S = R.H.S)

17. (c)
18. (a)
19. (a)

20. (d) F I V E

12 30 42 36

6 15 22 18
×2×2 ×2 ×2

F O U R

12 30 42 36

6 15 21 18
×2×2 ×2 ×2

Similarly,

T H R E

40 16 36 10

20 8 18 5
×2×2 ×2 ×2

E

10

5
×2

21. (a)

22. (a) Y  C  G

+4 +4

I  M  Q

+4 +4

S  V  Z

+3 +4

(Odd)

C  G  K

+4 +4

M  Q  U

+4 +4

23. (a) J  H  P

–2 –4

F  D  Z

–2 –4

A  Y  U

–2 –4

But,

K  J  E

–1 –5

(Odd)

24. (b)342 × 18 + 79 – 45 ÷ 3
'+' and '–' are interchanged
and '×' and '÷' are inter-
changed.

 342 ÷ 18 – 79 + 45 × 3
 19 – 79 + 135

 154 – 79   75

25. (c)
24

7
= 

12

7


24

7
÷ 2 =

12

7


12

7
= 

12

7
 (L.H.S = R.H.S)

11

15
= 

11

30


11

15
÷ 2 = 

11

30

11

30
 = 

11

30
(L.H.S = R.H.S)

Similarly,

9

13
= x

9

13
 ÷ 2 = x

x = 
9

26
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B-GENERAL AWARENESS

26. (b)After Guru Gobind Singh’s

death, Banda Bahadur led the

Sikhs in a revolt against the

Mughal Empire, aiming to

establish a Sikh state./xq# xksfcan
flag dh e`R;q ds ckn] cank cgknqj us
fl•ksa dk usr̀Ro djrs gq, eqxy lkezkT;
ds f•ykiQ foæksg fd;k] ftldk mís';
fl• jkT; dh LFkkiuk djuk FkkA

27. (c) Arikamedu, located in

Puducherry , was an ancient

port town that traded with the

Romans and is known for its

archaeological site./iqMqpsjh esa
fLFkr vfjdesMq ,d çkphu canjxkg 'kgj
Fkk tks jkseuksa ds lkFk O;kikj djrk Fkk
vkSj vius iqjkrkfRod LFky ds fy,
tkuk tkrk gSA

28. (a)Gopal Krishna Gokhale

founded the Servants of India

Society in 1905 to promote

social reforms and serve the

country./xksiky Ñ".k xks•ys us
lkekftd lq/kjksa dks c<+kok nsus vkSj ns'k
dh lsok djus ds fy, 1905 esa loZsaV~l
vkWiQ bafM;k lkslkbVh dh LFkkiuk dhA

29. (c) Article 14 of the Indian

Constitution guarantees the

Right to Equality, ensuring

that all citizens are treated

equally before the law./Hkkjrh;
lafo/ku dk vuqPNsn 14 lekurk ds
vf/dkj dh xkjaVh nsrk gS] ;g lqfuf'pr
djrk gS fd dkuwu ds le{k lHkh ukxfjdksa
ds lkFk leku O;ogkj fd;k tk,A

30. (c) According to the Constitution

of India, a person must be a

citizen of India, at least 35

years old, and eligible for

election as a member of the

Lok Sabha will be eligible to

contest for the presidency./

Hkkjr ds lafo/ku ds vuqlkj] ,d O;fDr
dks Hkkjr dk ukxfjd gksuk pkfg,] de
ls de 35 o"kZ dk gksuk pkfg,] vkSj

yksdlHkk ds lnL; ds :i esa pquko
ds fy, ik=k gksuk pkfg,] og jk"Vªifr
in ds fy, pquko yM+us ds fy, ik=k
gksxkA

31. (c) The hypothalamus, located

in the brain, is responsible

for regulating body

temperature, hunger, thirst,

and other essential bodily

functions./efLr"d es a fLFkr
gkbiksFkSysel 'kjhj ds rkieku] Hkw•]
I;kl vkSj vU; vko';d 'kkjhfjd
dk;ks± dks fofu;fer djus ds fy,
ftEesnkj gS

32. (c) Vitamin K is vital for the

coagulation (clotting) of blood

and is necessary to prevent

excessive bleeding./foVkfeu K
jDr ds teus (FkDds teus) ds fy,
egRoiw.kZ gS vkSj vR;kf/d jDrlzko
dks jksdus ds fy, vko';d gSA

33. (c) The SI unit of electrical

resistance is the “Ohm”

(symbol: ), named after

the German physicist

Georg Simon Ohm./fo|qr
çfrjks/ dh bdkbZ ^vkse* (çrhd %
) gS] ftldk uke teZu HkkSfrd
foKkuh tkWtZ lkbeu vkse ds uke ij
j•k x;k gSA

34. (b)Refraction is the bending of

light as it passes from one

medium to another with a

different density, such as

air to water or glass./viorZu
çdk'k dk >qduk gS D;ksafd ;g ,d
ekè;e ls nwljs ekè;e esa vyx&vyx
?kuRo ds lkFk xqtjrk gS] tSls gok ls
ikuh ;k dkap esaA

35. (c) Ernest Rutherford is known

as the father of nuclear

physics due to his ground

breaking work on the

structure of the atom and

the discovery of the

nucleus./vuZsLV jnjiQksMZ dks ijek.kq
dh lajpuk vkSj ukfHkd dh •kst ij
muds xzkmaM czsfdax dk;Z ds dkj.k
ijek.kq HkkSfrdh ds firk ds :i esa
tkuk tkrk gSA

36. (a)Nitrogen is called the “King

of Chemicals” because it is

essential for the production

of ammonia, which is used

in fertilizers./ukbVªkstu dks "jlk;uksa
dk jktk" dgk tkrk gS D;ksafd ;g
veksfu;k ds mRiknu ds fy, vko';d
gS] ftldk mi;ksx moZjdksa esa fd;k
tkrk gSA

37. (c) The Brihadeswara Temple in

Thanjavur is an example of

Dravidian architecture,

known for its grand size and

intricate designs./ratkoqj es a
c`gns'oj eafnj æfoM+ okLrqdyk dk
,d mnkgj.k gS] tks vius HkO; vkdkj
vkSj tfVy fMtkbuksa ds fy, tkuk
tkrk gSA

38. (b)Bharatanatyam is a classical

Indian dance form that

originated in the temples of

Tamil Nadu and is known for

its intricate footwork and

expressive gestures./HkjrukVÔe
,d 'kkL=kh; Hkkjrh; ùR; 'kSyh gS ftldh
mRifÙk rfeyukMq ds eafnjksa esa gqbZ Fkh
vkSj ;g vius tfVy infpÉksa vkSj Hkkoiw.kZ
gko&Hkko ds fy, tkuh tkrh gSA

39. (a)Rabindranath Tagore was the

first Indian to win a Nobel

Prize, awarded the Nobel Prize

for Literature in 1913 for his

work “Gitanjali.”/johaæukFk VSxksj
ukscsy iqjLdkj thrus okys igys Hkkjrh;
Fks] mUgsa 1913 esa mudh Ñfr ¶xhrkatfy¸
ds fy, lkfgR; dk ukscsy iqjLdkj fn;k
x;k FkkA
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40. (b)Kanchenjunga, located in the

Himalayas on the India-Nepal

border, is the highest peak in

India and the third-highest in

the world./Hkkjr&usiky lhek ij
fgeky; esa fLFkr daputaxk Hkkjr dh
lcls Å¡ph pksVh vkSj nqfu;k dh rhljh
lcls Å¡ph pksVh gSA

41. (b)The Nile River, flowing through

north eastern Africa, is

considered the longest river in

the world, with a length of

approximately 6,650

kilometres./mÙkj iwohZ vÚhdk ls gksdj
cgus okyh uhy unh dks nqfu;k dh lcls
yach unh ekuk tkrk gS] ftldh yackbZ
yxHkx 6]650 fdyksehVj gSA

42. (a) The Sahara Desert, located

in northern Africa, is the

largest hot desert in the

world, covering an area of

around 9.2 million square

kilo meters./mÙkjh vÚhdk esa fLFkr
lgkjk jsfxLrku nqfu;k dk lcls cM+k
xeZ jsfxLrku gS] tks yxHkx 9-2 fefy;u
oxZ fdyksehVj {ks=k esa iQSyk gqvk gSA

43. (a) The Western Ghats are older

than the Himalayas and are a

hotspot of biodiversity. They

extend from the south of Tapti

River in the north(not from it)

to Kanyakumari in the south./

if'peh ?kkV fgeky; ls Hkh iqjkus gSa vkSj
tSo fofo/rk dk dsaæ gSaA os mÙkj esa rkIrh
unh ds nf{k.k ls (mlls ugha) nf{k.k esa
dU;kdqekjh rd iQSys gq, gSaA

44. (a) The Ganga River Basin is the

largest river basin in India

and falls in the Bay of

Bengal. However, it flows

through more than three

Indian states./xaxk unh csflu
Hkkjr dk lcls cM+k unh csflu gS vkSj
caxky dh •kM+h esa fxjrh gSA gkyk¡fd]

;g rhu ls vf/d Hkkjrh; jkT;ksa ls
gksdj cgrh gSA

45. (d)The Deccan Plateau is

bounded by the Western

Ghats in the west and the

Eastern Ghats in the east. It

is a volcanic plateau and

forms part of the Indian

Shield./nDdu dk iBkj if'pe esa
if'peh ?kkV vkSj iwoZ esa iwohZ ?kkV ls
f?kjk gSA ;g ,d Tokykeq•h; iBkj gS
vkSj Hkkjrh; 'khYM dk fgLlk gSA

46. (a) DRDO has recently developed

missiles which move at

hypersonic speed giving India

edge in new age technology./

DRDO us gky gh esa ,slh felkbysa
fodflr dh gSa tks gkbijlksfud xfr ls
pyrh gSa ftlls Hkkjr dks u, ;qx dh
rduhd esa c<+r feyrh gSA

47. (b) In 2024, the United States

and China signed a new

trade agreement aimed at

reducing tariffs and

improving trade relations./

2024 esa] la;qDr jkT; vesfjdk vkSj
phu us VSfjiQ dks de djus vkSj O;kikj
laca/ksa esa lq/kj ds mís'; ls ,d u,
O;kikj le>kSrs ij gLrk{kj fd,A

48. (b)Argentina won the 2022

FIFA World Cup, held in

Qatar./vtZsaVhuk us drj esa vk;ksftr
2022 iQhiQk fo'o di thrkA

49. (a) A major milestone in

quantum computing was the

development of a stable qubit

that lasted over 10 minutes,

an important step in creating

more powerful quantum

computers./DokaVe daI;wfVax esa ,d
çeq• ehy dk iRFkj ,d fLFkj D;wfcV
dk fodkl gS] tks 10 feuV ls vf/d
le; rd pyrk gS] tks vf/d
'kfDr'kkyh DokaVe daI;wVj cukus esa
,d egRoiw.kZ dne gSA

50. (d) In 2024, India invested $450

million in its electric vehicle

charging infrastructure to

promote sustainable

transportation./2024 es a] Hkkjr
us fVdkÅ ifjogu dks c<+kok nsus
d s fy, viu s bys fDVªd okgu
pkftZ ax cq fu;knh <k ap s es a 450
fefy;u MkWyj dk fuos'k fd;kA

gSAgS C - QUANTITATIVE APTITUDE

51. (b) Divisors 

Remainders 

13

5

20

4

15

9
+ + ××

Step-1 :   9 × 20 + 4 = 184

Step-2 :   184 × 13 + 5 = 2397

 Least such number = 2397

 Generalized number

= (product of divisors) × n
+2397,

Where n = 0,1,2,3,4......

= 13 ×20 × 15n + 2397

= 13 × 4 × 5 × 3 × 5n + 2397

= 13 × 4 × 3 ×25n + 2397

= 156 ×25n + 2397

 This generalized number will

always have same remainder
on division by 156.

  Required remainder = R

2397

156

 
  
 

= 57

52. (c) Let cost of one pen, one
Notebook and one file

be ` p, ` n and ` f  respectively.

ATQ,

4p + 6n + 8f = 305.......(i)

3p + 4n + 2f = 145.......(ii)

and, 9p + 13n + 14f = ?

Multiplying eqn. (i) by 3 and
eqn. (2) by 2

 2 p + 18n + 24 f = 305
×3.......(i)

+6p + 8n + 4f  = 145 ×2
............(ii)

 18p + 26n+ 28f = 915 + 290

 18p + 26 n + 28f = 1205

 9f + 13 n + 14f = 
1205

2

 9p + 13n + 14f = 602.5



4SSC CGL 2025 | SET - 06KD PUBLICATION Contact us:- 9555108888, 9555208888

53. (a)A     :  B
Investment 4     :    5
Time 12   :   10
Profit share        4 ×12 : 5×10
= 48: 50
= 24 : 25
 B's share in profit =

 
25 49000

24 25





= 
25 49000

49


 = 25×1000

= ` 25,000

54. (b)
y

x

y = 2 (axis)
1

2

3 A (2,3)

A (2,1)Reflection 

21

'

 Reflection of point A (2,3) in
the axis          y = 2 is A'(2,1)

55. (a) x2 – 4x + 11
= x2 – 2×2 × x + 4 + 7
= (x – 2)2 + 7
We know, (x – 2)2 > 0

 x2 + 4x + 11 = (x – 2)2 + 7 > 7

 Smallest value of (x2 – 4x +
11) = 7

56. (b)ATQ,
Sum of 8 distinct prime
numbers = 157 keeping all
other numbers as small
possible.
2 + 3+ 5+ 7+ 11+ 13+ 17+P =157
P

max
 = 157 – 58 = 99

As, 99 is not a prime
number,
P

max
  99

Now,
2 + 3 + 5 + 7 + 11+ 13+ 19 +
P

max
 = 157

P
max

 = 157 – 60 = 97
      Required largest prime

Number = 97
57. (c) Let the radius of circle be r

ATQ,

 100 = 
360º


× 2r

 100 = 
36º

360º
× 2×

22

7
×r

 r = 
100 360º 7

22 2 36º

 

 
=

500


m

58. (c) 182 +262 = 324 + 676 = 1000
= 103

82+ 62 = 64 + 36 = 100 = 102

Now,

= 
       

   

2 2 3 3

2 22 2

18 26 13 15 5850

8 6 13 15 475

   

   

=
     
     

3 3 3

2 2 2

10 13 15 3 10 13 15

10 13 15 130 150 195

     

    

=
     
     

3 3 3

2 2 2

10 13 15 3 10 13 15

10 13 15 130 150 195

     

    

 = 
     

     

3 3 3

2 2 2

10 13 15 3 10 13 15

10 13 15 13 10 15 10 13 15

     

       

[a3 + b3 + c3 – 3abc =[ (a+ b + c)
(a2 + b2 + c2 – ab – bc – ac)]

=              

           

2 2 2

2 2 2

10 13 15 13 10 15 10 13 15 10 13 15

10 13 15 13 10 15 10 13 15

         

       

 = 10 + 13 + 15 = 38
59. (c) 1 + 3 +4+ 5+ 7 + 7+ 9+ .......?

Above series is 2 mix AP.
   = (1 + 4+ 7+..) +

(3+5+7+9+............)

   
1st A.P. 2nd A.P.
a

1
 = 1 A

1
 = 3

d
  
 = 3 D =2

 Sum = 
20

2
(2×1 +(20–1) × 3)

+ 
20

2
(2×3 +(20–1) ×2)

= 10(59)+ 10 ×(44)
= 590 + 440
= 1030

60. (d)ATQ,

a b

c


= 

6

5

a b c

c

 
=

6 5

5



a b c

c

 
=

11

5
........(i)

ATQ,

b c

a


=

9

2

a b c

a

 
=

9 2

2



a b c

a

 
=

11

2
............(ii)

Let a+b+c = 11

 c = 5 & a = 2

 2+ b+ 5 = 11

 b = 11 – 7 = 4

  a =2 , b = 4 & c = 5


a c

b


=

2 5

4


=

7

4
61. (b) A : B

Efficiency 3 : 1
Days 1 : 3

ATQ,
(3 –1) Units =  40days
1 units = 20 days

  A = 20 days

  B = 20 × 3 = 60 days

Let the total work be 60 units
A's one days work = 3 units
B's one days work = 1 units
(A & B)'s one days work = 4
units

 Required number of days

= 

60

2

4

 
  
 

=
30

4
days = 7.5 days

62. (a)ATQ,
cosQ×cosR×(cosP – sinP)
+sinQ× SinR ×(sinP–cosP)
P + Q + R = 60º
Let, P = 0º, Q = 0º

= cos0º×cos60º×(cos0º–sin0º)
+sin0º × sin60º ×(sin0º –
cos0º)

= 1×
1

2
(1 – 0) + 0 × sin60º×

(sin0–cos0)

=
1

2
+0  = 

1

2

63. (c) ATQ,
876p37q is divisible by 275
= 25×11

 Given the number must be

divisible by 25 and 11 both.
876q37q   can only be

divisible by 25 W h e n
number formed by last two
digits is divisible by 25.

  q = 5

876p375   can only be

divisible by 11 when,
(8+6+3+5) – (7 + p + 7) =11m,
Where m = 0,1,2.....
(8+6+3+5) – (14+p) = 11m
8 – p = 11m
p = 8 –11m
p = 8 at m = 0

 p = 8 & q = 5
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64. (c)

P

Q
S R

40º

180º–y

y

x x y

In PQS
40º + x + x = 180º

 2x = 140º

 x = 70º
In PSR
180º – x + y + y = 180º

 – x + 2y = 0

  x = 2y

 y = 
70º

2
= 35º

  QPR =  QPS +  SPR =
40º + 35º

  QPR = 75º

65. (d) 2

2P

P – 2P +1
=

1

4


2P – 2P +1

2P
= 4


P

2
–1 +

P

2P
=4


P

2
+

1

2P
=5

 P + 
1

P
= 10

66. (b)
2 2

2 2

cos – sec

cos sec

ec

ec

 

 

  =

2

2

2

2

cos
1

sec
cos

1
sec

ec

ec












 =

2

2

2

2

cos
1

sin
cos

1
sin












 =
2

2

cot 1

cot 1









tan = 2  cot=
1

2

=

2

2

1
1

2

1
1

2

 
   
 

 
   
 

=

1
1

4
1

1
4





= 

1 4

4
1 4

4




=

3

5



67. (c) x = a (sin+cos)


x

a
=(sin+cos)

and,  y = b (sin+cos)


y

b
= (sin– cos)



2

2

x

a
+

2

2

y

b
= (sin+cos)2 +

(sin–cos)2



2

2

x

a
+

2

2

y

b
=2 (sin2+cos2)



2

2

x

a
+

2

2

y

b
=2

68. (b)From ABC

BC2 = AB2 + AC2

C

M

B

A
L

From ABL

BL2 = AL2 + AB2

 BL2 = 

2

2

AC 
  
 

+ AB2 [L mid

point of AC]

 BL2 =
2

4

AC
+AB2

 4BL2 = AC2 + 4AB2 ...........(i)

From CMA
 CM2 = AC2 + AM2

 CM2 = AC2 +

2

2

AB 
  
 

[M

midpoint of AB]
 4CM2 = 4AC2 + AB2...........(ii)
 Adding eqn. (i) & (ii)
 4 (BL2 + CM2) = 5(AC2 + AB2)
 4 (BL2 + CM2) = 5BC2

69. (a) Let the speed of the stream

be x km/hr
 Upstream speed = (18 – x)

 Downstream speed = 18 + x

ATQ,

24

18 x
– 

24

18 x
=1

 24 (18 + x) – 24(18 – x) = (18

– x) (18 +x)

 x2 + 48x – 324 = 0

 x2 + 54x – 6x – 324 = 0

 (x + 54) (x– 6) = 0

x = – 54 or x = 6

 Speed of stream = x = 6km/
hr

70. (b)Let cost price milk per kg be

= ` x

ATQ,
(15 + 3) × 22 = 15 × x


18 22

15


= x

 x = ` 26.4/kg

71. (a) Let the number of boys be x

 Number of girls  = (150 – x)

ATQ,

 150 × 160 = (150 – x) × 55 +

x × 70

 150 × 60 = 55 × 150 – 55x +

70x

 150 ×60 = 55 ×150 + 15x

 600 = 55 ×10 + x

  x = 600 – 550 = 50

72. (c) In ABC

 A + B + C = 180º


1

2
 A+ 

1

3
 B+

1

3
 C =

90º..........(i)
ATQ,


1

2
 A+ 

1

3
 C + 

1

2
 B =

80º..........(i)
Substracting eqn. (ii) from
eqn. (i)


1

2
C  – 

1

3
C = 90º –  80º


1

6
C = 10º

  C = 60º
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73. (c) Let the number whose digits
got interchange be = X

and  interchanged number =
X'

ATQ,

 X – X' = 3.6 ×10

 X – X' = 36

Let X = 10x + y

X' = 10y + x

 (10x+ y) – (10y + x) = 36

 9x – 9y = 36

 x – y = 4

 Required difference = 4

74. (c) Let the age of each member
be A

1
,A

2
,A

3
,A

4
,A

5
 respectively.

ATQ,


1 2 3 4 5A A A A A

5

   

 A
1
+ A

2
 + A

3
+ A

4
  +A

5 
= 55×5

.........(i)


1 2 3A A A

3

 
=55

 A
1
+ A

2
 + A

3 
= 55×3 .........(ii)

From eqn. (i) & eqn. (2)

A
4
  +A

5 
 = 55×5 – 55 × 3 = 55

× 2


4 5A A

2


= 55 = Average of A

4

& A
5

 Required average = 55 years

75.(d) 14000 4000

1000 9000

5000

:

Officer : Other = 1 : 9

 Number of officers

= 500 ×
1

1+ 9
=

500

10
=50

D-ENGLISH COMPREHENSION

76. (a)William Wordsworth was a

romantic poet. He did things

in an unusual manner.

The indefinite article “a” is

used before “romantic poet”

because it refers to

Wordsworth as one among

many poets of the Romantic

period.

The indefinite article “an” is

used before “unusual manner”

because “unusual” starts with

a vowel sound.

77.(b) (When Serena arrives) uses

the present simple tense,

while the main clause (she

will call you) uses the future

simple tense .

According to 1st Conditional:

When/If + Present Simple,

Future Simple.

78.(b) Cramped (HkhM+ Bw alk gqvk)
means feeling or causing

someone to feel

uncomfortably confined or

hemmed in by lack of space.

Its opposite is Spacious

(txg ls Hkjiwj), which means

having ample space.

Crammed (Bwal Bwal ds Hkjk gqvk)
means completely fill (a place
or container) to the point of
overflowing.

Filthy (x an k)  means

disgustingly dirty.

Tight (dlk gqvk) means

fixed, fastened, or closed
firmly; hard to move, undo,

or open.

79. (c) The correct spelling is

“frustration.”

80. (a) Rachit had some important

work and so he cancelled the

show tickets for everyone.

Dog in the manger (tks nwljks
dks Hkh ml pht ds ets ysus ugha
nsrk tks og ugha ys ikrk) : refers

to someone who prevents

others from benefiting from

something they do not use

or want themselves.

81. (b)Convinced (fo'oLr) :

means having a strong

belief or being sure about

something. In this context,

it suggests that while the

speaker is doubtful about

the story, the other person

seems sure or convinced

about it.

Pleasant (vkuantud) : refers

to something enjoyable or

agreeable.

Regretting (iNrkuk): refers

to feeling sorrow or remorse.

Uncertain ((vfuf'pr) :

means not sure.

82. (b)The correct order is CDAB.

The sequence starts with
Fotik’s progress (C), followed
by his backstory of being
helped by upen (D), details
of the agreement (A), and
concludes with the salary

payment in advance(B).

83. (c) Outflow (çokg) means the

movement or transfer of

something out of a place. Its

opposite is Influx (ços'k) , which

means an arrival or entry of large

numbers of people or things.

Deluge (ck<+) means a severe

flood.

Income (vk;)  means

money received, especially
on a regular basis, for work
or through investments.

Torrent (rst /kjk)

84. (c) Has the car been broken

by them?

Active Voice: Auxiliary

Verb (“Have”) + Subject +

Main Verb (Past Participle:

“broken”) + Object

Passive Voice: Auxiliary

Verb (“Has”) + Object (“the

car”) + “been” + Main Verb

(Past Participle: “broken”) +

“by” + Subject
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85. (c) The correct spelling is

Schedule, means a plan or

timetable of activities or

events.

Literature (lkfgR;) : Refers

to written works, especially

those considered of superior

or lasting artistic merit.

Reformation (lq/kj): Refers

to the process of

improvement or change,

particularly in a social or

religious context.

Miserable (nq%•n) : Describes

a state of being very

unhappy, uncomfortable, or

in distress.

86. (a)made us wait

“Made” is a causative verb
here, and when used in
active voice it’s followed by
the object (“us”) and the base
form of the verb (“wait”),
without “to”.

87. (a)Pertinent (çklafxd) means

relevant or applicable to a

particular matter. Similarly,

Relevant (çklafxd) , means

closely connected or

appropriate to the matter at

hand.

Unrelated (vlac¼) means

not related or connected.

Puzzling (isphnk) means

causing confusion or
bafflement.

Living (thfor) means the

condition of being alive.

88. (b)Among is used when

referring to a group of things

or people. In this case, “all

the entries” is a group, so

“among” is the correct.

Between is used for two

things or people.

89. (b)“Come up with” means to

think of or create something,

such as an idea or a solution.

90. (b)“Had been fined” (past
perfect tense), is used to
describe an action that was
completed before another
action or time in the past.
Since the fine occurred last
evening, and Anurag is
talking about it in the past

(he’s reporting it).

91. (a) Soorya walked to college

every day: This uses the

simple past tense, which is

appropriate for describing a

habitual action that

occurred regularly in the

past, as indicated by “every

day.”

92. (b)Let him repair the fence.

 Passive Voice: Let + Object
(“the fence”) + “be” + Past
Participle (“repaired”) + “by”
+ Subject (“him”).

Active Voice: Let + Subject

(“him”) + Base Verb (“repair”)

+ Object (“the fence”).

93. (d)The word “ice” is an

uncountable noun, and

indefinite articles like “a” or

“an” are not used with

uncountable nouns. Instead,

“an ice cube” or simply

“some ice” should be used.

94. (b) “give someone the cold

shoulder” means to deliberately

ignore or show indifference to

someone as a way of expressing

displeasure or rejection.

95. (c) Strenuous (dBksj) means

requiring or using great effort

or exertion. Similarly,

Formidable (nqtZ s;) means

inspiring fear or respect

through being impressively

large, powerful, intense, or

capable.

Effective (çHkkoh) means

successful in producing a
desired or intended result.

Amicable (eS=khiw.kZ) means

having a spirit of friendliness;
without serious disagreement
or rancor.

Manageable (lapkyuh;)
means able to be controlled or
dealt with without difficulty.

96. (b)
97. (d)
98. (b)
99. (b)
100.(b)

ANSWER KEY

1. (c)

2. (c)

3. (b)

4. (d)

5. (d)

6. (a)

7. (d)

8. (a)

9. (d)

10. (d)

11. (c)

12. (c)

13. (b)

14. (a)

15. (a)

16. (b)

17. (c)

18. (a)

19. (a)

20. (d)

21. (a)

22. (a)

23. (a)

24. (b)

25. (c)

26. (b)

27. (c)

28. (a)

29. (c)

30. (c)

31. (c)

32. (c)

33. (c)

34. (b)

35. (c)

36. (a)

37. (c)

38. (b)

39. (a)

40. (b)

41. (b)

42. (a)

43. (a)

44. (a)

45. (d)

46. (a)

47. (b)

48. (b)

49. (a)

50. (d)

51. (b)

52. (c)

53. (a)

54. (b)

55. (a)

56. (b)

57. (c)

58. (c)

59. (c)

60. (d)

61. (b)

62. (a)

63. (c)

64. (c)

65. (d)

66. (b)

67. (c)

68. (b)

69. (a)

70. (b)

71. (a)

72. (c)

73. (c)

74. (c)

75. (d)

76. (a)

77. (b)

78. (b)

79. (c)

80. (a)

81. (b)

82. (b)

83. (c)

84. (c)

85. (c)

86. (a)

87. (a)

88. (b)

89. (b)

90. (b)

91. (a)

92. (b)

93. (d)

94. (b)

95. (c)

96. (b)

97. (d)

98. (b)

99. (b)

100.(b)


